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1.An EMC NetWorker backup job has failed 95% of the way through its operation.
Which functionality is provided by the checkpoint restart feature?

A. The backup can continue from the last known good point

B. The backup can always continue exactly where it left off

C. The backup can be merged with data from the last server checkpoint

D. The backup must be restarted from the beginning

Answer: A

2.Which three components comprise EMC NetWorker’s three tier architecture?
A. Server, Storage Node and Client

B. Master Server, Media Server and Client

C. Server, Storage Agent and Client

D. Cell Manager, Devices and Client

Answer: A

3.The three primary types of EMC NetWorker hosts form an architecture/topology.
What is this called?

A. EMC NetWorker Data Zone

B. EMC NetWorker Storage Domain

C. EMC NetWorker Storage Zone

D. EMC NetWorker Cell

Answer: A

4 Which feature of EMC NetWorker allows multiplexed, heterogeneous data to reside on the same tape?
A. OTF

B. TAR

C.CPIO

D. zIP

Answer: A

5.Which EMC NetWorker feature allows for a failed backup to restart at a known good point prior to the
backup failure?

A. CheckPoint Restart

B. Client Retries

C. Scheduled Backup Attempts

D. Restart Window

Answer: A
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